



Vendor Ranking

Page 1 of 1

Letting: 06220526 May 26, 2022 11:00 AM **Call Order:** 003 **Contract:** E6O36-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45066717201 (*)

Contract Desc: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Ran	C Vendor	Bid Factor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TENUSA, INC.	0.910	Responsive	Winning bid	\$148,120.89	100.00%
2	SUPERIOR LANDSCAPING & LAWN SE	1.001	Non Responsive	Non-Winning Bid	\$162,932.97	110.00%
3	BELLA FIORE LANDSCAPING LLC	1.890	Responsive	Non-Winning Bid	\$307,635.69	207.69%
4	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	1.936	Responsive	Non-Winning Bid	\$315,123.13	212.75%
	T.T.C. ENVIRONMENTAL, INC.	0.000	Non Responsive	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 06220526 May 26, 2022 **Call Order:** 003 **Contract:** E6O36-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 45066717201 (*)

Contract Descr: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven / Bid Factor contract that consists of providing labor, equipment, and materials to perform mowing, litter removal and edging on various sections of State Roads 5,7,9,916,932,934,969 and 826 in Miami- Dade County.

METHOD OF PROCUREMENT-Bid Factor Method:

The limits and estimated quantities per cycle, per section of the roadway are specified in Attachment "A" on pages 36 and 39 of this Specifications Package. Use the Departments' quantities and prices listed for each item in the bid Price Proposal to determine a single bid factor. The bid factor will be used to determine the low bidder and contract award; however, the actual reimbursement to the Contractor will be based on the unit price of the actual amount of work authorized, completed, and approve by the Engineer subject to the limiting amount of the contract. This contract is not renewable.

- -The Department provides quantities and predetermined Base Unit Prices for pay items which are included in the Advertisement.
- -The Bidder shall propose a single Bid Factor expressed as a number carried out to 3 decimal places. The proposed Bid Factor will be applied to all predetermined pay item Base Unit Prices included in the advertisement.
- -The Bid Factor of 1.000 shall be 100% of the Base Unit Price, any number above 1.000 will increase the Base Unit Price, and any number below 1.000 will decrease the Base Unit Price.
- -The lowest Bidder will be determined by the lowest Bid Factor submitted in response to the advertisement.
- -Award of the contract is based upon the bidder who submits a responsive and responsible bid with the lowest Bid Factor.

REQUIRED SUBMITTAL WITH BID: Bid Factor Bidding Sheet MUST be submitted with the bid as an attachment.

Visit www.bidx.com for more information

Line No / Item ID Item Description		Alternate	Quantity Units	(1) TENUS	(2) SUPERIOR LANDSCAPING & LAWN SE		` '	(3) BELLA FIORE LANDSCAPING LLC	
() in	dicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (1	LARGE MACH	INE MOWING (AC					
0005 LITTER	E107 1 1 REMOVAL		2,503.776 AC	8.79060	22,009.69	9.66966	24,210.66	18.25740	45,712.44
0010 MOWIN	E107 2 1 IG (LARGE MAC	HINE)	470.400 AC	30.17560	14,194.60	33.19316	15,614.06	62.67240	29,481.10





Tabulation of Bids

Page 2 of 4

Lettin	ıg:	06220526	May 26, 2022	Cal	Order: 003		Contract:	E6O36-R0	
Line No / Item ID Item Description			ate Quantity Units	(1) TENUSA, INC.		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) BELLA FIORE LANDSCAPING LLC	
	-	s bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	l: 0001	(LARGE MACH	IINE MOWING (AC	;				
0015 MOWIN	E107 2 2 NG (SLOPE)		306.456 AC	44.57180	13,659.30	49.02898	15,025.23	92.57220	28,369.31
0020 MOWIN	E107 2 3 NG (INTERM	EDIATE MACH	535.560 IINE) AC	41.46870	22,208.98	45.61557	24,429.87	86.12730	46,126.34
0025 MOWIN	E107 2 4 NG (SMALL I		1,189.200 AC	48.67590	57,885.38	53.54349	63,673.92	101.09610	120,223.48
0030 EDGIN	E110 32 2 G	2	1,340.448 MI	13.54990	18,162.94	14.90489	19,979.23	28.14210	37,723.02
		RGE MACHINE MOWING (AC)	Section Totals:		\$148,120.89		\$162,932.97		\$307,635.69
		Contract	Grand Totals:		\$148,120.89		\$162,932.97		307,635.69



06/13/2022

Tabulation of Bids

Page 3 of 4

Letting:	062205	26 May 26, 2022	Cal	l Order: 003		Contract:	E6O36-R0	
	o / Item ID A	Alternate Quantity Units	(4) KNIGHT F					
() indica	ates item is bid as Lui	mp Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 E LITTER RE	E107 1 1 EMOVAL	2,503.776 AC	18.70176	46,825.02				
	:107 2 1 (LARGE MACHINE	470.400 E) AC	64.19776	30,198.63				
0015 E MOWING (E107 2 2 (SLOPE)	306.456 AC	94.82528	29,059.78				
	E107 2 3 (INTERMEDIATE I	535.560 MACHINE) AC	88.22352	47,248.99				
	E107 2 4 (SMALL MACHINE	1,189.200 E) AC	103.55664	123,149.56				
0030 E EDGING	110 32 2	1,340.448 MI	28.82704	38,641.15				
O	0001 LARGE MAC MOWING	HINE Section Totals: (AC)		\$315,123.13				

Contract Grand Totals:

\$315,123.13



06/13/2022

Tabulation of Bids

Page 4 of 4

Letting: 06220526

May 26, 2022

Call Order: 003

Contract:

E6O36-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.